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and English. Each item comprises four responses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
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no penalty for that question.
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1. Let X be the set of all persons living
in a city. Persons x, yin X are said
to be related as x < yif yis at least
5 years clder than x. Which one of
the following is correct?

fa) The relation is an equivalence
relation on X

(b} The relation is transitive but
neither reflexive nor symmetric

fcj The relation is reflexive but
neither transitive nor
symmetric

{d) The relation is symmetric but

neither transitive nor reflexive

2, Which one of the following matrices
is an elementary matrix?

100

fa) 10 0 O
001

(b} |0

Q =

<
o N
o O

fcj |1

—
o

fdy (O
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3. Consider the following statements in

4.

respect of the given equation :

(2% +2)2 +8x? = 6x(x? +2)

1. All the roots of the equation are
complex.

2. The sum of all the roots cf the
equation is 6.

Which of the above statements
is/are correct?

{a) 1 only

(b} 2 only

fc} Both 1 and 2

{d} MNeither 1 nor 2

In solving a problem that reduces to
a quadratic equation, one student
makes a mistake in the constant
term and obtains 8 and 2 for roots.
Another student makes a mistake
only in the coefficient of first-degree

term and finds -9 and -1 for roots.
The correct equation is

fa) x%-10x+9=0

(b) x2+10x+9-=0

(¢} x%-10x+16=0

(d) x*-8x-9=0
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3. g (x? +2)% +8x% =6x(x% 4 2)

F w=d § fefafan w0 w f=m
HIA

1. 38 i & ot 9@ wfras )
2. @ g & wft gEt #7149 6 R

IO FAT H W - /R R/
(@) ¥a 1

(b} F 2

fc) 1 3R 23

(d) Fd1dAH 2

4, & T H, W 5w fgEm wliwo i

O B R, T B0 e U e
T YR W T Al ¢ SR g 8 7 2
TR FWel vl g@u el Sew yyE-am
T F N § el A & s §a
-0 T -1 TTH Fa1 ¢ | WE gl #
27

fa) x2-10x+9=0

) x?+10x+9=0

fo) x2-10x+16=0

(d) x%-8x-9=0
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5 If 8. The matrix

A—2 7 )
11 s 0 4+
447 0

then what is A+ 347! equal to?

(@) 3I 'S

fb) 51 faj symmetric

fc) 71

(d} None of the above (b) skew-symmetric
where I is the identity matrix of ¢} Hermitian
order 2.

(d} skew-Hermitian
6. In a class of 60 students, 45

students like music, 50 students
like dancing, 5 students like

neither, Then the number of 9. Let Z be the set of integers and
students in the class who like both aRb, where a, be Z if and only if
music and dancing is (a—b) is divisible by 5.
{fa} 35 Consider the following statements :
(b] 40 1. The relation R partitions Z into

five equivalent classes. .
fcj S0

2.  Any two equivalent classes are
fd) 55 . L
either equal or disjoint.

7. 1f Which of the above statements

{ Pl
log,0 2, 10g10{2% - 1) and log,(2* + 3) is/are correct:

are three consecutive terms of an

{a} 1 only
AP, then the value of x is
{a 1 (b) 2 only
(b) logg?2
fc; Both 1 and 2
fc) log, S
fd) logyp 5 {d} Neither 1 nor 2

B-PFCA-O-PEW/53A 4
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27 _ 0 —4+i
S.ﬂﬁA{l s}%,fﬁA+3AlﬁEH?ﬁ s_ansq;gLH_ A ]w%?
Erci
fa) 3! (a) GEfE
(b} 5I
) Tamm-wmfia
fe) 71
(@) IHE AR F Tl )
SR 1, i 2 F TowwE R B
(d} frm-giid
6. 60 faenfidt & = Fa@ F 45 foensff
wifid 7o F 8, 50 frmeff 79 w=
¢ 3R 5 foemeff 91 § @ 3w o
waw wf w §1 o P A, 9. W Wi f gt 1w 2 %
S wifd o e 99 TER R 8, W aRb, V&l a, be Z, A 3N Faw
w1 87 ’ (@a-b), 59 T 8
Frfafes wo = R $ifa .
@ 1. W=y R, Z %l W9 g & R
(b) 40 ferfsra e €1
c) 50 2, FEQ g 9 W A s & W
YT 2 |
@ 55
I oAt A A Fr-wd wd bR

7. 1R logp2,  logp(2-1) ¥
log,o(2*+ 3) T wA= AW (AP) F (@) ¥ 1
AT U 2, A x A W R7

(@ 1 (b) Fad 2
(b) logs2
fc) 13 2aM
{c} log, 5
{d) logyg 5 fd) A3 1IRAE2
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10, If 13. 1f 1, o, ©? are the cube roots of unity,
z= —2(1+2) then the value of
3+

where i=A-1, then the
argument B{-n <8< n)of z is

(1+ @) (1+0?)(1+0*){1+wd)

is

3n
{73 ——
fa) 4 fa} -1
3
B =
o fb) 0
Sn fc) 1
C, —_—
0 = i
fdi 2
3n
d) -2
(d} 2
14. LetA=(1,2,3,4,5,6,7,8,9,10).
11. If m and n are the roots of the Then the number of subsets of A
equation (x + p)(x+q)—k = 0, then containing exactly two elements is
the roots of the equation
(x-m){x-n)+k=0 {a) 20
are (b) 40
(@) pandgq
fcj 45
(b} 1/pand1/q
{c) -pand-gq (@) 90

{d) ptgand p-g
15. What is the square roct of i, where

12. What is the sum of the series i=+~17 M
0.5+0-55+0:555+ - to nterms?
(a) _l_ﬂ
{a) o n_.z_(l_ I J 2
9 9 10"
{b) 1 sng[l— 1 ) (b} 11
9 9 10" /] 2
1 5 1] :
{c) —[n—a(l— J 1+i
g 9l 10"/ (c) 7
(@ E[n—_l(1— 1 ]
9 9 10" /) (d} None of the above

B-PFCA-O-PEW/53A 6




10, oz z- 202w o g,

3+
TS z I HIF O(- 1 < 6 < ) T RT

3n

fa) -,

(b)

FiA

) —

fd) -—

11, Tfe m 3R n LLicau|
(x+p){x+tgq)-k=0 * PGl %, GE)
THFT (x-m)(x-n)+k=0 F T
1 gMY

(@ p¥Mgq

(b} 1/p3M1/q
(c} -p3-q
(@) p+q3 p-q

12, 99 0-5+0-55+0-555+ --- ¥ n W@
W I &= R 7

2
(a) —[n— 5 1-
(b}

()
53057
9 3305w
5t )

@ gn—
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13. 7R 1, 0, 0° HH A E, @

(1+0)(1+0?)(1+0%)(1+ab)

1 A 70 R?
fa) -1
tb) ©
fc) 1

(d) 2

14. M el A=(1, 2, 3, 4, 5, 6, 7, 8,

9, 10} BRI @ A F OF & =g W@
Il ITEG=E! I W = 27

(@) 20
(b} 40
fc) 45

(d) 90

15. i, &l i= =1, % Tiqe F0 37

(a)

L
2
1-i
® =
1+1
“ &

(d) 394§ W S T

[P.T.O.




16. The decimal number (127-25),,
when converted to binary number,
takes the form

{@ (1111111-11),
(b} (1111110-01),
{¢) (1110111-11),

(d) (1111111:-01),

17. Consider the following in respect of
two non-singular matrices A and B
of same order ;

1. det(A+B)=detA+detB

2. (A+B)l=alyp!

Which of the above is/are correct?
{a}) 1 only

(b} 2 only

{¢/ Both 1 and 2

{d} Neither 1 nor 2

18. If

3 -4 5 2 P q

X = = =
bS] wea? ]
satisfy the equation AX = B, then
the matrix A is equal to

-7 26 7 26
fa) [1 —5] ] {4 17J

7 -4 . [7 26
fc) [26 13] @ [—6 23]

B-PFCA-O-PEW /53A
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1
19. What is ¥ "*"C, equal to?
r=0

{a} I'1+2cl
(b) n+2cn
(C) n+3cn

(d) n+QCnJ.1

20. How many words can be formed
using all the letters of the word
‘NATION’ so that all the three
vowels should never come together?
{a} 354
(b) 348
{c) 288

{d) None of the above

21. [x3 - 1) can be factorised as

(@) (x-1)(x-w)x+e?)
) (x-1)(x~o)(x-w®)
fc} (x—1)(x+w)(x+w?)

{d) (x-1)(x+w)(x-w?)

where o is one of the cube roots of
unity.




16. TWeE W@ (127-25),, & fEanud
=N | ufafds 6 o &, @ wH-a w®v
@t 27

(@ (1111111.11),
() (1111110-01),
f¢) (1110111-11),

(@) (1111111.01),

17. &R #if2 % & sgeeoig aneggt A it B
% foru Fomtferfan w fomm $ifd

1. det(A+B)=detA+detB
2. (A+Byl1=At+pl

T § | BH-u /Al y/E
(@) Fad 1

(b) Fad 2

fc) 1 30T 2 ent

(d) ad1mad2

18. i
3 -4 5 2 P g
R LR P LS
TfFm AX =B # Tge =@ 3, @
AR A foress s 37

-7 26 . [7 26

fa) [1 —5} 0] [4 17}
7 -4 o [7 26

4 [26 13] () [-6 23]
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1
19. ¥ e, fews wuer

r=0

(a) n+2c1
() "*2C,
(C) n+3Cn

- 2
(d) " Cn+1

20. W& ‘NATION’ & @l a1/ = WOp 3=

fope T8 T2 ®MIC S weRd B TR I
i A1 T wEang it o T amd?

(a} 354
(b} 348
c) 288

(d} ITEF F | FE FE

21. (x* - 1) = @ 9 § rErs B W

gl 27

fa) (x-1){x—-aw){x+w>)
() (x-1)(x-w){x-v)
¢} (x-1){x+w){x+w?)
(d) (x-1)(x+0)(x-o?)

el o T T TF S B

[P.T.O.
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22. What is 25. If A={x:x is a multiple of 3} and
73 B={x:x is a multiple of 4! and
sinﬂ-+i(1—cos—) C={x:x is a multiple of 12}, then
6 which one of the following is a
Lo n
8in - —t(l—cos—) null set?
6 6
where i = /-1, equal to? fa) (A\B)uC
a 1 (b) -1
(b} (ANBN\C
fc) i {d) -i

fci (AnB)nC
23. Let '

(d} (AnB)\C
[x+y ¥y T BE: _[3
A ) B ema o]

26. If (11101011), is converted to

- ; 2
If AB = C, then what is A® equal to? decimal system, then the resulting
[6 -10] number is
@ |4 26|
fa} 235
(b) [-10 5]
| 4 24 (b) 175
[~5 -6
fc/ 160
£ | _q -20]
y s 7 {di 126 '
() -5 20
27. What is the real part of
24, The value of
] 1 1 (sinx+icosx)3
1 1+x 1
where i =+/-1?
1 1 IT+y
is {a}] —cos3x
fal x+y (b} -sin3x
(b) x-y
) xy {c) sin3x
fd] l+x+y (d) cos3x }

B-PFCA-O-PEW/53A 10




3
sin.'Lt + i(l—cosE)
6

22, , W& 1=+,
S m
sin— —i| l1-cos—
& -i{1-con)
s st 87
fa) 1 b -1
fe) i {d} —i
23, W+ i B

a5 2 ) o2 sme[]

33l AB= C, ™ A2 Fras st R7
6 -10
(@ [4 26]

10 5
(o) ]

4 24

-
CRIN
53

(d)

1 1 1

1 I+x 1 | HEF1R7
1 1 l+y

24.

faj x+y
(b) x-y
fc} xy

(dl l+x+y

B-PFCA-O-PEW/53A
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25, 4% A={x:x, 3 & T& T %} R
B={x:x, 4 ® T& & ¢} adl
C=f{x:x, 12 ¥ T& ¥ 2}, @
Frerfafigs # @ F9-w 0 foF ag=m 87
fa} (A\B)uC
(b) (AA\B)\C

fef (AmB)nC

(@) (AnB)\C

26. 7R (11101011}, 1 T¥Wea v A
sfEfda 6t s %, W ofomh g=n =
B?
(a) 235
(bj 175

) 160

(d) 126

27. (sinx +icosx)®, & i=+-1,
TEEF W 22

fa} -cos3x
(b} -sin3x
fc) sin3x

{d) cos3x

11 [P.T.O.




IV. CAREERINDIA

28. [f 31. Let B be a positive angle. If the
8 sin® number of d=grees in 8 is divided
E(8) = cos sin by the number of radians in 8, then

-sin® cos8

an irrational number 180 /7 results.
If the number of degrees in 6 is
multiplied by the number of radians
in 8, then an irrational number

then E(o) E(B) is equal to

(a) E(of) 1257 /9 results. The angle 8 must
: be equal to
(b) E(a-B}
faj 30°
fe) Ela +B) (b) 45° .
fd) -Efc+p) fc) 50°
(d) 60° .

29. Let A={x, y, 2} and B={p, q,r, s}
What is the number of distinct

relations from B to A% 32. In a triangle ABC, a=(1+3) cm,

b=2 cm and angle C= 60°. Then
(@ 4096 the other two angles are
fa) 45° and 7&°
(b} 4094
{b) 30° and 90°
128
fc) {c) 105° and 15°
fd) 126 {d) 100° and 20°
30, If For the next two (2) items that follow : .
2p+3q=18 Let o be the root of the equation
and 4p? +4pg-39% -36=0 25c0s* 6 + 5¢0s6 - 12 = C, where g <a <.
then what is (2p+(§) equal to? 33. What is tana equal to?
{a) 6 faj -3/4
(b) 7 ' (b) 3/4
fc) 10 e} -4/3
(d) 20 d) -4/5

B-PFCA-O-PEW//53A 12
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28, o m@<| <50 Sine],ax,E E 31, T <At 6 uF wHs B 2 uf o %
o [—sme N s 61 wem A 6 % e B v A
forme =t B7 fawnfsm e < 2, @ whomesy o
iy W 180 /n e Bl Al o H
(@) E(of) T H T F 6 e ) gewm g
TR R SR, @ qfommEs @
) E(o-B) sofd gem 1251 /6 T R H 8
Forerr TreR @ & few?
¢} Ela+B) @ 30°
(d) -E(o+B) (b) 45°
{c) 50°
{d} 60°

29. AR wRw B A={(x,y 2z 3R

B={pqrs} 8 B¥ A 7% fm 32. ™ @ ABC % a=(1+Y3) em,

wra] A w0 {7 b=2 cm 3 FW C= 60° ¥ A W

31 0T T B
4096

@ fa) 45° 3 75°

(b) 4094 (b) 30° ¥R 90°

0 128 (c) 105° 3R 15°
{d} 100° 3% 20°

fd) 126

AT FAA TS Y (2) WA & g
30, IR 2p+3g=18 )1 A iR B 25c0s2? 0+ 5cos8- 12 = 0

4p2+4pq—3q2—36=0 £, @ H?T‘Iﬁa%,aﬁg-<0t<ﬂ%l
(2p + q) TFas wwar #7

@ 6 33. tano foa® auar 7
(@) -3/4

o fb) 3/4

fc) 10 ) -4/3

{@ 20 fdj -4/5

B-PFCA-O-PEW /53A 13 [P.T. O.




34. What is sin2a equal to?

(@) 24 /25
(b} -24/25
(c/ -5/12
(d) -21/25

35. The angle of elevation of the top of a
tower from a point 20 m away from
its base is 45°. What is the height of
the tower?
fa) 10 m
fb) 20 m
fci 30 m

(d} 40 m

36. The equation

tan~1{1+ x) + tan"1{1- x| =g

is satisfied by

{a) x=1
(b} x=-1
g x=0

{d) x=1/2

B-PFCA-O-PEW/53A 14
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37. The angles of zlevation of the top of

a tower standing on a horizontal
plane from two points on a line
passing through the foot of the
tower at distances 49 m and 36 m
are 43° and 47° respectively, What
is the height of the tower?

fa) 40 m
{b) 42 m
fcg 45 m

(d 47 m

38. (l-sinz'h»cosAl2 is equal to

faj 2(l-cosA)(1+sinA)
fb} 2{1-sinA}(1+cosA)
fe} 2(1-cosA)(1-sinA}

(d} None of the above

What is

cosf  sinB
1-tan® 1-cot@

equal to?

fa) sin®-cos®

(b} sinB +cosb

fcj 2sind

{d} 2cost
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34, sin2o TR TR 37 37. @ &f99 guad W @ & dhR 6 9
% HAR % 918 ¥ O Tl W@ W 49 m
fa) 24 /25 it 36 m i gt W fBm 3 fagaii @ <
IAG F HAM: 43° 3w 47° §) dER
() -24 /25 1 s @
faj 40 m
) -5/12
(b) 42 m
(d) -21/25
{c/ 45 m
{d} 47 m

35. UF U i N F 50 AU Y 20 m
7w g ¥ 39 I 45° ¢ TAR A

g T 27
38. (1-sinA+cosA)? foros st=R 27
(@) 10 m
fa) 2(l-cosA){l+sinA)
(B} 20 m
() 30 m fb} 2(1-sinA){1+cosA)
fd) 40 m fc} 2(1-cosA)(l-sinA)
(d) ST A B A T
36. GHlwHm tan"1(1+x)+tan_1(1—x)=g
fww v ? .
Wﬁm% 30. cos9 N sin® e TR 7
1~-tan® 1-cotd
fa) x=1
. {a) sin6 -cos®
(b} x=-1
fb) sin® +cosH
fcg x=0
{c) 2sinbd
fd x=1/2 {d) Z2cosH

B-PFCA-O-PEW/53A 15 [P.T.O.
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For the next three (3) items that follow : ' For the next three (3) items that follow :
Consider x=4tan”1(lj, y___tan—l(ij Consider the triangle ABC with vertices
5 70 A(-2 3), B(2 1) and C(1, 2).
d z=tan-1{2
and z=1tan 09/ 43. What is the circumcentre of the
triangle ABC?
40. What is x equal to? @ (-2, -2)
-1 60)
af tan™| —
( (119 b) (2, 2)
(b) tan 1[&) ) (-2, 2) .
119,
90 @ (2 -2)
¢} tan | —
@ ()
(170 44, What is the centroid of the
{d} tan (ﬁ) triangle ABC?
1
41. What is x - y equal to? (@) (5’ IJ
{a) ta “{ﬁj
845 (b) (l 2)
33
(b} tan'l(——8287J
8450
e (1 7]
{c) tan‘l[—-—szle '3
8450
_1( 8287 1
d) ta 1(—] d (—, 3
@) tan| o @33
42. What is x — y+z equal to?
T 45. What is the foot of the altitude from
{a) 3 the vertex A of the triangle ABC?
{b) n {a) (1, 4) ‘
3
B (-1, 3)
e %
fe) (-2, 4)
n
dq) =
@ 3 @ (-1, 4)
B-PFCA-O-PEW/53A 16




AT S AT A (3) wet & o

Eip I x=4tan_1(é), y=tan

M z= tan‘l(glg-] H

40. x Pras qusg 27

{a) tan'l(—q{-)f

41. x - y Pross soeT 27

o ()

42, x - y+ z FFEH TR B?

fa)

KA

(b)

fc)

{d)

Ala ol wlA

B-PFCA-O-PEW/53A
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T 3 TR A7 (3) gy % forg

—1(L) Wit A(-2 3), B(2 1) 3 C(1, 2) 9= Fy
70 ABC W fa=m #ifsg)

43. s ABC 1 uites 7 37
fa} (-2, -2)

b) (2, 2)
fct (-2, 2)

fd) (2, -2)

44, ¥ ABC %1 %% R 8¢

o (3

45. B ABC ¥ ¥ A ¥ w1 T e

1 UIE HT BT
fa) (1, 4)
) (-1, 3)
c) (-2, 4)
(@ (-1, 4)
17 [P.T.O.




46. The point on the parabola y2 =4ax
nearest to the focus has its

abscissa
@ x=0
b} x=a
) x=aj2
{d) x=2a

47. A line passes through (2, 2} and is
perpendicular to the line 3x + y = 3.
Its y-intercept is

@) 3/4
(b) 4/3
fc) 1/3
d 3
x2 y2
48. The hyperbola = -<_ =1 passes
a? b2

through the point (35, 1) and the
length of its latus rectum is % units.

The length of the conjugate axis is
fa) 2 units
(b) 3 units
{cj 4 units

fd) 5 units

B-PFCA-O-PEW/53A 18
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49. The perpendicular distance between
the straight lines 6x+8y+15=0
and 3x+4y+9=01is

fa} 3/2 units
b} 3/10 unit
{cj 3/4 unit
{d) 2/7 unit

50. The area of a triangle, whose vertices
are (3, 4), (5, 2) and the point of
intersection of the lines x = ¢ and

Yy=09, is 3 sguare units. What is
the value of a?

fa) 2
b) 3
fe) 4
fd} 5

51. The length of perpendicular from the
origin to a line is 5 units and the
line makes an angle 120° with the

positive direction of x-axis. The
equation of the line is

@) x+J3y=5
fb) 3x+y=10
fc} J§x—y=10

fd) None of the above




46. TETE y2 = 4ax W Bm 7Y & Py
forg 1 3 7 27

@@ x=0

(b} x=a
fe} x=af2

d x=2a

47. W @ (2 2) 4 T @ olw T
3x+y=3 F Afers R W
y-Wt@UEW%?
fa) 3/4
b} 4/3
fc) 1/3

d) 3

48, ﬂﬁlﬂﬁaﬂx—{—£=lﬁ%(3ﬁ 1R
a® b ’

T % ol W afvera oA
%ﬁé%umﬁgﬁmaﬁaﬁéw

¥

(@) 2T
(b) 3T
fc). 4 T
(d) 5 TR
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49. W@ @l 6x+8y+15=0 3R

3x+4y+9=0%7ﬁ3ﬁ W{ﬁ
82

(@) 3/2 5
(b 3/10 T
(c) 3/4 T
(@ 2/75H

50. TF fe #, R i (3, 4), (5, 2)

3 W@l x = q T y = 5 H TR
frg &, A%w 3 ¥ FFE B a T AR
w1 ’7
fal 2
(b) 3

fc) 4

fd} S

51. & W@ | uafrg ¥ e $i e

5 TR & 3R W@ -3y B wers B
T 120° 1 B0 AR 81 @1 Wi
w1 87

(@) x+J3y=35
fb) V3x+y=10
(¢) V3x-y=10

(@) Todw | ¥ i

[P.T.O.




52. The equation of the line joining the
origin to the point of intersection

of the lmes—-+£—1andx L
a b b a

is
laj x-y=0
(b) x+y=0
) x=0

(d y=0

For the next two (2) items that follow :

The projections of a directed line segment

on the coordinate axes are 12, 4, 3
respectively.
53. What is the length of the line
segment?
{a) 19 units
(b} 17 units
{c) 15 units
{d} 13 units
54. What are the direction cosines of the

line segment?

fa) {12/13,4/13, 3/13)
tb) (12/13, ~4 /13, 3/13)
() (12/13, -4 /13, - 3/13)

(d) (-12/13, -4 /13, 3/13)
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For the next two (2) items that follow :

From the point P(3, -1, 11), a perpen-
dicular is drawn on the line L given by
¥y-2 z-3 | O be

3 4
the foot of the perpendicular.

the equation x=

55. What are the direction ratios of the
line segment PQ?

(a} (1 6, 4"

) (- —4)
(e} (- 4)
{d) (2,—6 4 ’

56. What is the length of the

segment PQ?
() 47 units
fb}) 7 units
fc) /53 units
(d} 8 units

line

For the next two (2) items that follow :

A triangular plane ABC with centroid
(1, 2, 3)cuts the coordinate axes at A, B, C
respectively.

57. What are the intercepts made by the
plane ABC on the axes?

fa)
(b}
fc}
(d)

3, 6,9
1,2, 3
1,4,9
2,4,6




52, g W @ X4+¥-1 sl

§+E=l%gﬁ%@ﬁﬁiﬁﬁaﬁaﬁﬁ
a

a1 w1 gfte w4 7

(a)
{b)
fcc x=0

{d)

AT ATX AT 2 (2) Wy % o

fRww o4 w R = wE F vEv wEm:
12, 4, 3 €1

53. 1@ GUE Hii TR 1 87
19 T
17 308
15 TR
13 3o

{a)
()
c)

(d)

54. Ya @ve #i e 7= 87
(@) (12/13, 4/13, 3/13)
(b) (12/13, -4 /13, 3/13)
(c) {12713, -4 /13, -3/13)

(@ {-12/13, -4 /13, 3/13)
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HTA 3T I & (2) WA & forw

fg P(3, -1, 11) q Lticau
Xx_y-2_z-3 T
2 3 4 o LwwE

afirers wfen sman 31 AW e B stferm =
R QR

55. (@ @e PQ % % agom = 7

@ (1,6, 4)

(b) (-1, 6, -4)
(€ {-1 -6, 4)
(d (2, -6, 4)

56. W@ @E PO Hl orETé ] Bf
fa) AT @
(b} 7 TR
(c) 53 FHR
(d) 8T

AT I A Y (2) WA forw

FEF (L 2 3) 9N UF AEeiE e ABC
FrwE el ®) FAW: A, B, C W Fed 2

-§7. GG ABC U &1 W 9 F<-G2 F
27
fa)
(b)
c)
{d)

3,6,9
1, 2,3
1, 4,9

2,4, 6

[P.T. 0.
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58. What is the equation of the 61. If G(x)=~f25—x2, then what is
plane ABC? Gx)- G(1)
lim —— ——— equal to?
x—1 x-1

fa) x+2y+3z=1

(b) 3x+2y+z=3 @ -3
1
fc) 2x+3y+6z=18 {b) G
1
{dj 6x+3y+2z=18 e —_
© "7
1
For the next two (2) items that follow : {d) N .

A point P(1, 2, 3)is one vertex of a cuboid
formed by the coordinate planes and the
planes passing through P and parallel to et reX
the coordinate planes. Looy= 2

62. Consider the following statements :

is an increasing

function on [0, =),

X _ —x
59, What is the length of one of the 2, y=e—e- is an increasing
diagonals of the cuboid? -2
function on (-, o).
fa) 10 units Which of the above statements

is/are correct?

(b) 14 units (a) 1 only

{c) 4 units b) 2 only .
fc} Both 1 and 2

fd) S units (d} Neither 1 nor 2

60. What is the equation of the plane 63. For each non-zero real number x,

passing through P(1, 2, 3) and let f(x) = ﬁ The range of f is
paralle]l to xy-plane?
fa) a nuil set

(@) x+y=3 {b) a set consisting of only one
ib) " 1 element
X=Y=-=
{c} a set consisting of two
{c} z=3 elements

(d) a set consisting of infinitely

{d x+2y+3z=14 many elements
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§8. @AW ABC F1 Wi T 27 61. gt  Gx)=v25-x2 B, A
fa) x+2y+3z=1 limlw oo st RY
x— X -
b) 3x+2y+z=3 (@) _%
fc) 2x+3y+6z=18 1
(b} 5
{d} 6x+3y+2z=18
1
fc) _ﬁ
AT A FTE T (2) T % T (@) _16_

P 3) Toreit w Bl ~
j_jﬁ E[]{EQ', ) ﬁ‘;{mmﬁ’ﬁéﬁiﬁ 62. Frfafiga s o fem At

¥, W P& W ¥, 50 R 1. [0, m]‘?{'{yzex;emx@‘q’iﬁﬂ
T &1
59. ¥4 F a0t § @ o & o ;R 2. (—oo, =) W y:ex;e—x e
' 5 For 3 @ wm-T/A w3/
(b) V14 =7 e / /
() F&A 1
fc) 4T3 (b) 3G 2
@ 55 fe 1312

(d) Fd1aRAaH2

60. P(1 2 3 ¥ TN A R xy-TGA & 63. T% IAM AAfys d@n x F fow aw

HHIRR FHAS 1 YRl T 22 s-ﬁﬁqf(x]=|il%|faﬂmw%?
X

(a} x+y=3 {a) @mw

b) x-y=-1 (b T v, ol ot O e

. A (c) O ag=a, fad A srawa @

(d) TF v, Tl sa: w1 Seaed
(d x+2y+3z=14 %
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64. Consider the following statements :

1. fix)=[x], where [.] is the
greatest integer function, is
discontinuous at x =n, where
ne Z.

2. flx)=cotx is discontinuous at
x =nn, where ne Z.

Which of the above statements
is/are correct?

fa)
{b) 2 only

1 only
{c} Both 1 and 2
(d} Neither 1 nor 2

65. What is the derivative of

tan_l(\/1+x2 - 1]

X

with respect to tan~! x?

fa} 0
(b) 172
fc} 1
{d) x
w3
66, If f{x}=10ge(iii), g{x)=?):T;2

and ge f(t) = g(f(t)), then what is
gof(:%ij equal to?

() 2

{bj 1

fe) O

(d 1/2

B-PFCA~O-PEW /53A
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For the next two (2} items that follow :

Given a function

-1 if xs<0
flx)=iax+h if O<cx<l
1 if x21

where @, b are constants. The function is

continuous everywhere.

67. What is the value of a?

fa) -1 :
b) O
fc} 1 . .
(d) 2

68. What is the value of b?
(a}
fb) 1

=1

fej O
(d) 2

69. Consider the following functions :
1. flg=x° xeR .
2. flx)=sinx, 0< x <2n
3. fix}=e*, xR

Which of the above functions have
inverse defined on their ranges?

fa) 1 and 2 only
fb) 2 and 3 only
fc) 1 and 3 only
fd) 1,2 and 3




64. FrfafiEa sl w faur i

1. flg=[x], & [] wem %
Fed ¥, x=n W IFTG ¥ A
ne zZ.

2. flx)=cotx, x =nn W 3 8,
Wl ne Z &

I FE A B A -a/R e /A
(a) FEF 1

(b) FI@A 2

o 13 23

(@ F@1ad2

| 1+ x? —1\'

65. tan~!x % W tan“l[—x—Jaﬂ

ST 1 B

{a) O

(bj 1/2

¢ 1

d} x

_ 1+ x &3x+x3

66. R fix) = log. (T} glx)=

W ogefm=glre) ¥ 0@

guf(-i%}] Foras St 27

{a) 2
(b) 1
fc) O

(d) 1/2
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T T AT € (2) WwAw o ot

form 2 = Few

-1 =R x=<o0
fix)=<ax+b e O<x<
1 afe x=z1

2 @, b 3 &1 T 4T F0 2

67. o F HA F &7
(@ -1
o) O
fe) 1
d) 2

68. b ¥ HH AT 87

(@) -1
b} 1
{fco O

@ 2

1

69, Trfufiad wom W fam i

1. flg=x% xeR
2. fix)=sinx, D<x<2n
3. fig=e*, x=R

Sriw we # @ - 9w WA W

gftenfia wfee™ @ §7
fa) 9 1 3k 2
(b) A 2 AR 3
fc) a1 3R 3
(d 1,233

[P.T.O.




For the next two (2) items that follow :

The integral I is of the form

acosx + bsinx
lln[tan(x +oc)]-
r 2

70. What is r equal to?

{a) a? + b2
) Va2 +p?
c) a+b

(d) Ja? -p2

71. What is o equal to?
~-1fa
a) tan | =
@ (3]

{b) tan! 9)
a

o

)
)

For the next two (2) items that follow :

R

[~

a

‘(
o tanh.l(aﬁ»
(

(d} tan™!

o

a-+

x2 -1

¥
x2 41

Consider the function flxy=
where x ¢ R.

72. At what value of x does f(x) attain
minimum value?

(@) -1
b) 0
(¢} 1
fa) 2

B~-PFCA-O-PEW/53A
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73. What is the minimum value of fix}?
{a} O
b} 1/2
fc) -1

(dp 2

For the next two (2) items that follow :

Consider the function

ocosx | i

if x=2Z=

f[x]z 'T(.—Qx 2
3 df x=2

2

Sy . i .
which is continuous at x = > where a is

a constant.

74. What is the value of o ?
faj 6
fb) 3
{e¢) 2

d 1

76, What is lim f(x) equal to?
x—=0
fa) O

(b}

Al W

fe)

fd)

Al
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AT IR AT 2 (2) T ¥ fere 73. flx) H1 IH TH 7
| THTFRA I——-——dx 1In\:tan(x"-m)jl fa) 0
acosx +bsinx’ r 2 o 12
F w4 H B ) A
e} -1
70. rfEs TR AY @ 2
{a) a? +b? ,
b) Va2 +b? AT A TR B (2) WA | g
() a+b ¢Lcosx I x#ﬁ
(@) Va2 -b? e flg={m-2x 2
3 -qﬁ x=§
71. o FFeH SUR 37 mﬁarta?ri%m,sﬁx:gwm%,aﬁatﬁ
() tan'l(c—;) I B
(b} tan 1( ) 74. o W AE T R7
-1fa+b {a) 6
fc) tan” (—b)
(b) 3
a1 b
{d) tan” (a—-] © 2
@ 1
AT ATX WIS =Y (2) WA % g
T fix) = —1 Trl%’fxe]R R feram Fifsm) 75. E‘Oﬂ")mwg?
x
(@] ©
72, x % FFa @ ¥ Y f(x) TR 9E AW
Har 27 () 3
o @ 2
(b}. 0 m
(e 1 6
@ 2 -
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For the next two (2) items that follow :

Consider the line x =3y and the circle

x? +y2 =4,

76. What is the area of the region in
the first quadrant enclosed by the
x-axis, the line x =3 and the
circle?

STh

fa)

wiA

oG

(b)

N(A

fc)

wia
b | =

None of the above

(d)

77. What is the area of the region in
the first quadrant enclosed by the
x-axis, the line x =3y and the

circle?
n
fa) 3
n
b =
(b) G
n_ V3
© 372
fd) None of the above
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For the next two (2) items that follow :

Consider the

Y=Cosx.

curves y=sinx and

78. What is the area of the region
~ bounded by the above two curves
and the lines x = 0 and x = 43?

faj V2 -1
(b} V2 +1
fc) ~2
(d) 2

79. What is the area of the region
bounded by the above two curves
and the lines x =; and x = g?

fa) v2-1
b) 2 +1
fc) 2J2
(d) 2

For the next two (2} items that follow :

Consider the function

flx)=0-75x% - x3 ~9x2 + 7

B0. What is the maximum value of the
function?

{aj 1
{b) 3
fe) 7

) 9




AT 2 aTe & (2) i o T

W@ x =3y 3t Cal x2+y?> =4 w fmr
Hif

76. wum Sguly § x-319, W@ x = V3 S
U R w2 w1 e AT

3

bis
@ 3773

() 34w A A B €

77. wom aguie § x4, W@ x =3y AR
9 ¥ R R+ e w0 ¥?

fa)

wia

fb]

oA

J3

(c] DX

A

(d) oW H @ € 7
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A W G | (2) TvATw o e
EED y=sinx3ﬂ(y=cosxmﬁaﬁiﬁfﬁql

78. mﬁﬁﬁﬁﬁﬁmi@aﬁx=0fﬂxzﬂ

79. Waaﬁﬁﬁm}(@ﬁx=gaﬁ1x=ﬂ

4

TR REE YoNl W1 &%+ 87

fa) ~J2-1
(b)) V2+1
fe) 2

{d) 2

2

0 UiEg Yo 1 EAw = R?

@ ~2-1
(b} V2+1
e} 242

d 2

Y ST AT B (2) Tyt %

Fed flx)=0-75x* - x3 -9x%2 +7 W fER

Hifsw)

80. oA F JAwHad W =1 BT

29

fa) 1
(b) 3
fc) 7

{d 9

[P.T.O.




81. Consider the following statemnents : 83. What is ﬂJ equal to? !
dx
1. The function attains local
minima at x = -2 and x = 3. {a) Y
X
2. The function increases in the y
interval (-2, 0). {b) .
Which of the above statements x
is/are correct? fe} g
fa) 1 only {d) X
y -
b} 2 only
. d? Y
. Wh - 1 to? .
{c) Both 1 and 2 84. What s = equal to
. a? a?
(d} Neither 1 nor 2 fa} — b) —
y2 x2
2 2
a a
) - @ -2
x Yy

For the next three (3) items that follow :

. ] . 85. Consider the following statements :
Consider the parametric equation

1. The general solution of

af{l-t?) 2at dy
X=— - y= — = X+ x
1+1¢2 1+¢2 dx Fx

is of the form y = g{x) + ¢, where +

. ¢ is an arbitrary constant.
82. What does the equation represent? v

2
2.  The degree of(@J = fx)is 2,
{a) 1t represents a circle of dx

diameter a Which of the above statements

is/are correct?
fb) 1t represents a circle of
radius a fa) 1 only

fb) 2 only
{c) It represents a parabola
{fc) Both 1 and 2

(d) None of the above {d} Neither 1 nor 2
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81. Ffafes vt w AR fifw .

1. %M, x=-2 3R x =3 | WHT
T2 (minima) W18 F&@ &

2. Thed, 3 (-2, 0) § I9AH 2

Iqges el I & HE-01/8 7 ¥/
fa) Had 1

(b) A 2

fc) 1323

{d) Aq1MAHE2

AT T A A (3) vt g

a(l t )
1+¢2

yafaE Wi x
R Fomm i)

82. ug gdteo 41 Frefta w27

{a) & o T F TH g4 el =@ R

(o) T o B=m w1 @ gu el W@
?

(c) e G Wawa FrefE W R

(d) I 4 | F A

B-PFCA-O-PEW/53A

31

IV. CAREERINDIA

. -

d -—

dgy ?
84. __%a%amﬂ%
dx?

85, Frafafg wudi w faem fifsm .
1. %:f(xhx H  HMNE B

Yy=glx)+cF T H B, Tl c &
Wes 7 )

2. [%)2=f(xrﬁma 231

I kel A @ HH-w /A w0
(@) FEa 1

(b) a2

c) 1 3R 23gH

(d) Td1dRTA2

[P.T.O.




86. What is | .

equal to?
Vx? +a

x+Vx? +a?

a

fa) In +c

fb) In

+cC

x-vx? +a?
a

x? +Vx2 + a2

fc) In +c

{d) None of the above

where ¢ is the constant of

integration.

For the next four (4) items that follow :

n 8in2mx

Consider the integral I, =f0 - dx,
sinx

where m is a positive integer.

87. What is f; equal to?

{@) O

(b) 12

fc) 1

(@) 2
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88. What is ) + I, equal to?
faj 4
(b} 2
fc) 1

{d) 0

89. What is I, equal to?
{fa O
{b) 1
fe} m

{di 2m

90. Consider the following :
1. I, -1, ; is equal to 0.
2. IL,>1,

Which of the above is/are cotrect?
(] 1 only

ib} 2 only

fc} Both 1 and 2

{d) Neither 1 nor 2




dX __ fras AR 37
x2% + a2

86. |

+cC

J(+‘\J.?'C2 +a2
a

fa) In

x—\x2 +a2

(6} In +c

fc) In +ec

x2 +\Jx2 +a2
a

(@) 39 A QA HF T

St ¢ TaET AR R

A T TRt R (4) Ty % fore

7 sin2rx
THE I, = [
0 sinx

it &, W fa=m Sifem)

dx, J& m & ueIR

87. I, Tous suan &7
(@) O
v 1/2
fe) 1

a 2
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88. I, + I, fres s 27
(@) 4
(b) 2
{c) 1

(d) O

89. 1, ToFa® st R?
() ©
(b) 1
c) m

(d) 2m

90, fr=fafam w faar ffT
1. I, —I,_ |, 0% &R

2. gy > I

IYF T § FE-9/A wh /R
(@) 1

(b) HAE 2

(c) 1 3 23H

[dy AdIRad2

[P.T.O.




For the next two (2) items that follow :

2 4
Given that i[l-f»x—-rxz_

=Ax+ B.
l+x+x

91. What is the value of A?
fa) -1
) 1
fc) 2
{d) 4

92. What is the value of B?
faj -1
(bj 1
fe) 2
fd) 4

For the next two (2) items that follow :

Given that lim
X

(2+x2

_Ax_B]za.
1+x

93. What is the value of A?
fa} -1
th) 1
fe) 2
(d} 3

94. What is the value of B?

{a -1
(b 3

{c) -4
dj -3
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95. What is the solution of the
differential equation

ydx—zxdyzo?
y
fa) xy=c
b) y=cx

fc] x+y=c

d x-y=c

where ¢ is an arbitrary constant.

96. What is the solution of the
differential equation

sin(@]—a =07
dx

1

@ y=xsin‘atec

(b) x=ysinla+c

1

fc) y=x+xsin"‘a+ec

1

d) y=sin"ta+c

where ¢ is an arbitrary constant.

97. What is the solution of the
differential equation

{a) xy=x4+c
(b) xy=y*+c
() 4xy=y*+c

(d) 3xy=y> +c

where ¢ is an arbitrary constant.

34
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AT T ATt 2Y (2) Wi & forg QS.WWWEE——E——W’=DWW
y
farmm s A (Lpx2 x| g w1 37
dx| 1+x+x2 .
fa) xy=c
91, A oW w77 (b) y=cx
(@) -1 fcj x+y=c
b} 1 {d) x-y=c
e) 2 T ¢ T WS T R
(d) 4
92. B A ¥4 {7 96. aa gl sin(gxg)—a--o F T
fa) -1 o7 §7
(b} 1 1
(©) 2 {a) y=xsin""a+c
(d 4 1

(b) x=ysin""a+c

AT 3T AT A (2) TERT ¥ R (o= 3+ xin~ a+e

fd) y= sin"la+e

X

fm 2 B lim (2”‘2 —Ax—B]=3
1+

&l ¢ F @8 Hq; B
93. A % HH ¥ ¥7
@ -1 97.aaaa;amﬂm%+§-y2:o &
® 1 w1 81
:;)} z fa) xy=x?+e

b) xy=y*+c
94. B F HH ¥ 87

faj -1 {c) 4xy=y4+c
() 3 s

€ =4 ’ {d) 3xy=y° +c¢
d) -3 &l ¢ F @5 3 ¥
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X
98. What is ji‘ﬂ

equal to?
{x+1)2

fa) (x+1)%2e* +c

(b} (x+1)e* +c

- ex
fe) x+].-ch
(d) e e
(x+1)2

where ¢ is the constant of
integration.

99. The adjacent sides AB and AC of
a triangle ABC are represented
by the vectors -2 +3j+2k and

-4{ + 5]+ 2k respectively. The area
of the triangle ABC is

{a} © square units
{b] 5 square units
fc) 4 square units

{cI} 3 square units

B-PFCA-O-PEW/B3A
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100. A force F = 37 +4j— 3k is applied at
the point P, whose position vector

is 7=20-2j-3k. What is the
magnitude of the moment of the
force about the origin?

{a) 23 units

(b} 19 units

{c) 18 units

{d) 21 units

101. Given that the vectors o and B are

non-collinear. The values of x and y
for which @ -7 =1 holds true if

— b d
U = 2x0 + yB, U =2yd+3xP and

—

w=2&'—5§, are
faj x=2 y=1
fb) x=1 y=2
fcg x=-2, y=1

(d x=-2 y=-1 .

s — — — —
102. If[d| =7 [b|=11and |d+D|= 10v3,

then |3—3| is equal to
{a) 40

{b) 10

fc) 410

{d) 2J10

36 |




98. | XeTdX ey e 37
(x +1)?

(@ (x+1)2e* +c

{b) (x+1)e* +e

c)

+c
x+1

X

{dj

(x +1)2

Sl ¢ TuTeH W ST g

99, W fiyw ABC # 9@ {Id AB it AC
Fav:  wew  -20+3j+26 el
-4{ +57+2k 3 Prela € ad {1
e ABC %1 §5%a w1 37

(@) 6T THE
() 5 TR
(c) 4 FTgFg

(d) 3 TR
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100. TF ¥ F=31+4)-3k fg P W,

forw foufa afm 7=2i-2j-3K %,
T @ R qEeg ¥ enNy 99 %
AT 1 TiET F® 27

(a) 23 ¥
(b) 19 T
fc) 18 31
(d) 21 5%

101. & T ¥ % wRw 3 ol B owRw

xR yFaAE, FFE M u-v=w
" W g, R ﬂ’=2ﬁ+y§,
D=0yt +3xp I w=20-58 %
w1 &7

fa) x=2 y=1
() x=1, y=2
fc) x=-2,y=1

(@ x=-2 y=-1

102. 7R jd|=7, bl=11 &

\d+b|=1043, T |3 - b | BFuH W=
27

fa) 40
®) 10
fc) 4410
(d) 2410

[P.T. 0.




103. Let o, B, y be distinct real
numbers. The points with position
vectors of + B +vK, Bi +vj +ak and
vi + o + Bk

fa) are collinear

(b) form an equilateral triangle
c) form a scalene triangle

{d}) form a right-angled triangle

I T4 ;
104. If a+b +¢ =0, then which of the
following is/are correct?

2 o
, b, ¢ are coplanar.

al

1.
O
2. dxb=bxc=¢xa

Select the correct answer using the
code given below,

fa) 1 only
(b} 2 only
fcj Both 1 and 2
{d) Neither 1 nor 2
105. If [d+b|=|3-b| then which one of
the following is correct?
(e} @ =2Ab for some scalar A
(b) @ is paraliel to b
fc) d is perpendicular to b

([d} 8=b=0
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106. The mean and the varnance of
10 observations are given to be
4 and 2 respectively. If every
observation is multiplied by 2, the
mean and the variance of the new
series will be respectively

fa) 8 and 20
{b) 8 and 4
fc} 8 and 8
{d) 80 and 40
107. Which one of the following measures

of central tendency is used in
construction of index numbers?

(a} Harmonic mean
(b) Geometric mean
{c) Median
{d) Mode

108. The correlation coefficient between
two variables X and Y is found to
be 0-6. All the observations on
X and Y are transformed using
the transformations U =2 - 3X and
V =4Y + 1. The correlation coefficient
between the transformed variables
U and V will be
fa} -0-5
b) +0-5
fe} -0-6

(d} +0-6




103. AW Wi 76 o, B, y T srafas g
¥ et oRet of +B) + vk, Bl +yj + 0k
R vl +of + Bk T g

@) W@ E

(b) T TaTg Byt = R
fc) e Toremang Fye = 2
(d) TF T Be o §

104. 7R F+b+2=0, @ Foafiea A A
BT /@ T R/E?

1. @ b, ¢ 99ae
2. @axb=bxc=2¢xa

= fiw o W oW W W
EE

(@) a1

(b) ad 2

fc} 132 TH
[d) 8 13T 2

105. IR |G +b|=|d-b} @ Frfafes 3 &
HA-91 T 27

(@) @=irb, 30 alw A F B
®) @, b¥F et
(c) 3, bR fers 2

(d) g=p=0
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106. 10 J&wil & " 3 yaw F#A9: 4 3R 2

faw e &1 ol T e F 2 F o W
foon o, A A AP F ama si wERw
FH: ] BN 7

() 8 3R 20
(b} 83 4
fcj 838

{d) 80 ¥R 40

107. g #l T A % fau Pefories 3

A Bl e sy R T
37

{a) TUHG qILT

(b) TPIRR WA
(c)  TIEHa

(d) Ea=

108. ¥ W X 3R Y F Fr9 gewery IO 0-6

qEl 9 B X 3R Y F @t e
TR U =2-3X 3R V=4Y +1
T T wAE TR S R w e
T U IR V& i ey s @0
#m?

fa) -0-5
(b} +0-5
fcg -06

(d) +0.6

[P.T. O.
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109. Which of the following statements
isfare correct in respect of
regression coefficients? -

1. It measures the degree of
linear relationship between two
variables.

2. It gives the value by which one
variable changes for a unit
change in the other variable.

Select the correct answer using the
code given below.

fa 1 only

{b} 2 only

fc} Both 1 and 2
{d} Neither 1 nor 2

110. A set of annual numerical data,
comparable over the years, is given
for the last 12 years.

Consider the following statements :

1. The data is best represented
by a broken line graph,
each corner (turning point)
representing the data of one
vear.

2. Such a graph depicts the
chronological change and
also enables one to make
a short-term forecast.

Which of the above statements
is/are correct?

{a} 1 only

{b} <2 only

fc} Both 1 and 2
{d) Neither 1 nor 2

B-PFCA-O-PEW/53A
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111, Two men hit at a target with

probabilities 1/2 and 1/3
respectively. What is the probability
that exactly one of them hits the
target?

(@ 1/2
b 1/3
c) 1/6
(d 2/3

112. Two similar boxes B, (i = 1, 2) contain

113.

(1+1) red and (5-17-1) black balls.
One box is chosen at random and
two balls are drawn randomly,
What is the probability that both
the balls are of different colours?

{fa) 1/2
(b} 3/10
fc) 2/5

(d) 3/5

In an examination. the probability

of & candidate solving a question
is 1/2. Out of given 5 questions
in the examinaticn, what is the
probability that the candidate was
able to solve at least 2 questions?

(@) 1/64
(h) 3716
fc) 1/2

(d) 13/16




109, FuEEY o % fae Freafatee i §
¥ F-w /3w §/87

1. I8 8 S ¥ %9 as g=a
HIAT R R

2, 9% 98 9 < § R % s =W g,
W WA @ F owhaE AR g,
gfterdq g 21

2 e T e w oW W @ W
i

fa) a1

(b) HE 2

c) 1 % 2EM
(@) Fd1dRTd@2

110. wa 12 =97 & fou offs T
st 1wy, S 6 ot § gy R,
o w1

Frfeafaa wemt w fmr B

1. 3 afwe w witzs Y@ o g
waen fislm e &, v S
(387 frg) T = F aAfes Frefta
R d

2. T YHR F U HATHLE e
foam ¥ i sty gEigmm +=a
w1 ot g =T R

I FY A A B-w/R a3/
fa) F 1

(b) %2

fc) 1 3K 2 3N

(d) Fat13RAd2
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. T =af e as i owEm: 172 9 1/3

4 wilRkmaret @ Wed ¥ 38 wiws 7
2 fr = § -3 B @ W T w
siedn 27

faj 172
b) 1/3
fc) 1/6

(d) 2/3

112, @ el B (=1, 2 F (i+1)

e AR (5-i- 1) we T ) & =

Ig=3A A IR B OHR A R agesd
Tl sl &1 = Wl #=n # & S
TR SAE- S T A &7

faj 172
(b) 3/10
) 2/5

{dj 3/5

113, % g & ww armefi % o v A '

F H Wi 1/2 Bt 98 WS ®n
? 6 whan ¥ Ry 1w 5wt @ apaef
FH-Y-FH 2 T B wA PR H G
@t

(a} 1/64
() 3/16
cf 1/2

(d) 13/16

[P.T.O.
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114, If Ac B, then which one of the 117. If A and B are two events such
following is mot correct? that P(AUB)= § P(ANB)= _1
4’ 4

fa} P(AnB)=0 and P(K]:%, then what is P(B)
equal to?
P(A)
{b) PtAIB)=ﬁ fa) 173
(b) 2/3
P(B fct 1/8
@ P(BlA)=LO)
P(A) (dy 2/9
PlA) 118. The less than’ ogive curve and the
(d} PA|[AuB))= TB) ‘more than’ ogive curve intersect at
fa) median 2
115. The mean and the variance in a {b) mode
binomial distribution are found {c} arithmetic mean
to be 2 and 1 respectively. The
probability P(X = 0) is {d) None of the above
fa) 1/2 119. In throwing of two dice, the number
of exhaustive events that ‘5’ will
th) 1/4 never appear on any one of the
dice is
fe) 1/8 fa 5 )
(d} 1/16 fb) 18
fe) 25 .
116. The mean of five numbers is 30. If fd) 36
one number is excluded, their mean
becomes 28. The excluded number 120. Two cards are drawn successively
is without replacement from a well-
shuffled pack of 52 cards. The
faj 28 probability of drawing two aces is
faj 1/26
(b} 30
(b) 1/221
e/ 35 fc) 47223
{d) 38 {d 1/13
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114, I Ac B ®, & Fr=fefgs 9 @ #h-wn 117. ¢ A 3R B & goad @ wn & &

T 98 T 87 P(AuB)z-ii, P{AmB]=4l AR
fa) P(ANB)=0 HZp%ﬁﬁHmﬁw%mm%?
) PAIB)= 12 P
P(B) (b) 2/3
(¢ 1/8
_ PiB)
fc) P(BIA)———P{A) dy 2/9
: 118. B9 @ 9 FF AR AR ¥ oAnm =%
(d) P(Al(AuB)):{% gl Hicress X 87
\ () e 9
(b} gTH W
115, 5 fie 927 & mear o yewor o 2 ) THIAL A W
AR 1 9 S B iR P(X = 0} w0 (d) 5w § Y FE T
71
119, ? uiE H Hw o 3 Fmiy gemew A,
fa) 1/2 5 3-8 Foll o 9 ® 5 W A
b) 1/4 T, Hed 54 87
* @ 178 “®
(b) 18
(d) 1/16 © 25
) (d) 36

116. uf= @Emslt &1 wieg 30 ®| 4R ww we
Ao Rm e L, @ T e 28 120, WO wE W g AW F 52 W A 0

T 2| B TR e 27 T # @ o At @ ™ I
' frE I £ P e A & ¥ T
fa) 28 TR T wrfEreRa Fan 27
(b} 30 (a) 1/26
(b) 1/221
NI fc) 4/223
(d) 38 (d) 1/13
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WS qF ATTH! g T0gor Yiee Tie @t T FE1 AW a9 qo T Gt

AN . ; B-PFCA-O-PEW riteror gfERT SR
A AT
1926177 g giwre A
oTa
TR : v 3R | e yutfes : 300
AT

L. wfign YO ¥R & g |1, A9 3@ wierw it 6 wgere sravg w0 o i st v fae o, we
AT G R Y vern WA i A w1 AR T R, A 3@ wht wheor yftes @ age wifn
2. o o= T % OMR 3-waw #, 3Rm tom W, I8 7wn ok wdteror gitvnt ses A, B, C @
D &, & | v T feelt o o e § a@ sin peag w0 6 Rreerd seltmam &6
st R & O /Ry & R § seewrs Rew W= R e
3. @ Wy gfeem W oww # e T Fmw F emw aw
FpwaF T ¥ wiemr gfRe W el e T R
4. 38 vigw yfeem § 120 yHw (y) Re ¥ wede swm el s smeh O 3 oo ) wds v 8
TR R (IW) g e E T R O g R A, SR o sw-wEs @ sife won A § At s
T o i uw @ o g e §, @ s weme R sifen wt S ol wEee @ s wem ¥ R
AR TH B WG T R
5. v w oft TegE e @ Ry sw-mm wod iR #0 §) sw-wE § fim m iy i
6. wvft weiElt % ofF wAN ¥
7. 78 T T A whem gfew & e Tl % g Eemw w st = e W, o wEm
A % WY WA TR % SgER §W e Iw-ws 6 8§
8. M AW Wil wegwd F IW-TF T W F I a Then F gure W Fae IW-a9w FANEE B A 3
w9 W Sem e ® I R sl B
9. ¥= =W ¥ T ww wHew gee & o § d@ew
10. e 39 & fog gue
TgfE wR-Tat # Iafreem g Ry o rew s % Re gz Rar wmem '
(i) TR I & T aR Aot Iw 8 ) Ioiar grr weis e % R R g o e 3w % fore we 3
e fre o Tt w1 - e ¥ W § e smom
(ii) afe wré Iefiean s & iftres o ¥ R, 4 30 e 3w T S, 9El R I § @ o R gl
g B, R ot 38w ¥ fon sedgen @ @ @ W oevs e smom
(iti} 3f IRfieaR a5 S gt A o o 2, i e g0 S Ren st 3, 6 3w v & fag
=i zug T R @)

TR T ITH qg T GRESRT TS F T HE T AL T T Gl

Note : English version of the instructions is printed on the front cover of this Booklet.




